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Theory under Topological Diagram Approach

PhysRevD.109.073008, Phys. Rev. D 104, 073003 (2021)
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2 2 DF[P] — K*(892)p" 2.53 £ 0.28 &+ 0.12
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Process This analysis PDG
D{[S] = K*(892)1K*(892)" 5.01 £0.49 £0.78

D [P] = K*(892)*K*(892)° 1.10£0.16 £0.10

DY [D] — K*(892)7K*(892)° 0.65+0.12 £0.10

D} — K*(892)*K*(892)° 5.93 £0.47 +£0.74 7.98 +2.88
D = K7(892)7 (K7 ) _vave 0.73 £0.17 £0.15

Dy — K*(892)°(K%72 ) g wave 1.06 £0.16 £0.13

Dy — n(1475)7%,7(1475) = a(980)" % 1.57 £0.39 £0.76

DY — y(1475)xt,7(1475) — K*(892)0K0 0.32 £0.10 £0.10

Di — n(1475)x ", 7(1475) - K*(892)" K~ 0.32+0.10£0.10
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+ + =t ot ar—
D; - K"K m'm™n
243 events with ~96% purity

JHEP07(2022)051

-~ a5 o 20r
<, 100y } Data a 2 2
> (@  —Toulfi = 20 = > s
E — - Backgroun <
2 5 —fl(lgi())*npﬁﬂ i = 10 =
5 e a(1260790P] | 10 a Z 10f
E KK, = > =
CIN Y = eI B W (1Y b chitel s 2 5 2
1 1.1 1.2 1.3 1.01 1.02 1.03 1.04 ‘E ‘E 5
M, (GeVic?) My (GeVie?) m sa| 7 HIT
«g 0 «;E‘ -1 -0.5 0 0.5 1 -1 —0.5 0 0.5 1
ST 2 cosO . COSBTCY -
= 3
.%.’ 5 | _15 fi'&)-
= i L L = >
03 04 0.5 0.6 ) | Data
M, (GeVic) M, (GeVic) E — Total fit
=5 ~ g —— Background
5™ (@ | | S O T R At § 4 S a,(1260)"0[S]
= 15 = | LS L Y T I A a,(1260)"0[P]
% 10 | % 10 _,f;: e I o S T o e K-K+R+TC+R-NR
R E 1 -1 0.5 0 0.5 1
53 N i i . @ T
12 14 16 0.9 1 L.l 12 13 COSB,@ T
M . (GeVie2) M o o (GeVie?) i
=3 2
2. © ! S8 () _ 3 _3
2 ”| = Intermediate process BF (1077) PDG (1077)
Iv Ty I, + + + 0+
| et PR 2 L l)..:_i [S] — (1-1(1260) (,f), (1-1(1260) [S] — P 4.82 £+ 0.40 £ 0.29
0.8 1 1.2 0.4 0.6 0.8 1
My (GeVie) M GV D} [P] — a1(1260)* ¢, a1(1260) " [S] — 7"  0.34 £0.11 4+ 0.05
—~ 40) ~ 4
a0 IR DF — a1(1260)t ¢ 51540414032 74412
Z 20 20
2 T DY - (K-Ktntntn7 )R 1.444+0.224+0.10  0.9+0.7
: 3 1‘6 AT : TR R v

My, . (GeVied) M s (GeVIe?)

10




D} - K)K)rmt

2310 events with ~78% purity
arXiv:2503.11383

[ i: ol K'K'(892r (@ :>: ol (b)
o 2 ~KIK (892 2 100 B(D{ —» K{K*) — B(D§ - KJK*) 61/ R0 e 0
e 3 < so0F o(1020)* =] JJT n 0= T 0ren (_ S 1T 0.U T 0. ) 0
L > S s B(D§ - KJK*) + B(D§ - KPK*)
E L5[ & 1 > 3 g T Tor o6 TDA: —0.164 + 0.032 / —0.159 + 0.028
= | Moo (GeV7ie?) Mg (GeV7ie?)
&, n © - € ' FAT: —0.066 + 0.191
YO > 2 @
O 200 E 200+
0.5+ § 100k § 100l rL’ ' f BRAl\A\l()N (8] 0.62 0
AR N P T 2 £z e FISCHBACH [10] 0.68
05 le G 1\]52/ 4 2 Z Z f:;r::ﬁ i '”]T"**fh- BENAYOUN [11] 0.71
e (OSV/ED M, (GeVilch M, GeVie) | busNICKA[  osssoorr M SRR
L % HBC 1972 [15] 0.89+0.10 —_—
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Phys. Rev. Lett. 134, 011904 (2025)
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Component Phase (rad) FF (%) BF (1073)

7o(1370)p" 0.0(fixed) 249 +38+2.1 5.08 + 0.80 + 0.43
£0(980)p" 3.99 + 0.13 + 0.07 12,6+ 2.1+ 1.0 2,57+ 0.44 + 0.20
1,(1270)p" 1114+ 0.10 +0.10 9.5+ 1.7+ 0.6 1.94+ 036+ 0.12
(p ,()“)S 1.10 + 0.18 = 0.10 354+1.2+0.6 071 £0.25+0.12
[p( 1450)"'[)0}5 0.43+0.18 £0.17 46+134+08 0.94 +0.27 £ 0.16
[ptp(1450)°], 458 +0.16 £0.09 8.6+13+04 1.75 £ 0.27 + 0.08
Pl(pr) = nta 2lnt 290+ 0.15£0.18 249+1.24+04 5.08 £0.324£0.10
o|(pn) = z* a2’ |n’ 3.2240.21 £0.09 6.9+0.8+0.3 1.41 £+ 0.17 + 0.06
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#(1300)[(pr)p — 7* 7~ 202" 2.2240.14 +0.08 117423422 2.39 4 0.48 + 0.45
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Phys. Rev. Lett. 134, 201902 (2025)
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DY [S] — ¢y 072011 0% 11.62+094 04 332+029 7012 ) > 100
D{[P] = ¢p* 1.34£0.15 % 222042 70 0.634£0.12 700 > 100
Dy = ¢p' 13.86 4 1.03 #0910 3984033 0% )
D} — p(1450)* 2", p(1450)" — wa’ 1.55 £ 0.11 1008 7.84 £ 083 H8 0.39 £ 0.04 10 6.3c
DY [S] = a,(1260)°p", a,(1260)°(S] = p*z~ 461 +0.10 F512 5.194+050 537 0.234+0.02 10 > 100
D [P] — a,(1260)°p", a,(1260)°[S] — pa~ 0.06 +0.10 f312 6.25+052 93 0.50+£0.04 100 > 100
Dy — a,(1260)°", a,(1260)° — p* 2~ N 11.43 £ 0.67 32 0.50 +0.04 702
DY [S] = a,(1260)%", a,(1260)°[S] — p~x 4.61+£0.10 1312 3.644£035 117 0.16 + 0.02 *9¢! > 100
D [P] = a,(1260)°p", a,(1260)°[S] — p~x* 0.06 £+ 0.10 *512 376 £031 520 0.17+0.01 20! > 100
DY — a;(1260)"p*, a,(1260)" — p~x 7.39£044 026 0.334£0.02 102
DY[S] = ay (1260)"p°, a(1260)*[S] — p*a” 1.85 £ 0.11 £13 9434+ 114 -5 041£005 5002 9.2¢
DY [P] = ay(1260)*p", a,(1260)*[S] — p* " 352402 53 7.10£0.88 13 0.31£0.04 5502 > 100
DY = a,(1260)*p°, a,(1260)* — p*z° 1653137 1132 0.73+0.07 Y]
DY — b(1235)*7°, b(1235)7[S] = wa™ 4.27 +£0.10 1903 10.79+0.98 &% 0.53+0.05 1 9.7¢
D = b (1235)°z", by(1235)°[S] = wn” 1224009 1008 1460120 1930 0.724£0.06 1007 > 100
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v D Amplitude analyses
D) — K"K «" partial wave analyses
D7 — K" Kgm" partial w analyses
» 2w partial wave analyses
D! — 2 n" 7 x" partial wave analyses
» 2 7 partial wave analyses
T rr"'u‘ partial wave analyses
D} — 72« partial wave analyses
Dy — K™n™w™ partial wave analyses
D} — K% 7" xY partial wave analyses
D! — K*n*m nY partial wave analyses
D7 — 2 K, n™ partial wave analyses
D; — K K 2w partial wave analyses
D7 — K- K™« xY partial wave analyses

Dy — K- K27 partial wave analyses
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